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1. Tl vaeht =l oftfem (w) @ o-F00 W=
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() Torelt armTe] 3 i gerEETA
(b) Tl Ty 3 37 HRT
(e) Tomedt w3 ¥z & wAnAfE
(d) = % gt
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fa) ‘w #m 3H
b) 1}| s fH
fe) 'Zc ¥R e

40 40
(d) 0ar s ca

3. F=fafaa § 4 sw-# venfeE afifEn s
T 7
{a) Fe+CuS0, — FeS0,4 +Cu
{b) Zn+CuS0, — ZnS0, +Cu
fc) Cu+PbCl, —»CuCl, +Pb
(d] Mg+CuS0, — MgS0, +Cu

4. YA F w0a pH aren faew g 8
fa) e ey e
(b) weahis sl fem
(¢) zEa speft faeram
(d) FE faem

8. wia #mEE ¥, frafafim 8 4 fh-m s
39 B 7
(@) i
(b) HEHE A
fe) EIEE FwA

(d) TEIEATE S
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1. Bcattering of a-particles by a thin gold
foil suggests the presence of

fa)
{b)
fc)

{d)

electron in -an atom
proton 1n an atom

positively charged nucleus at the
centre of an atom

isptopes of gold

2. The elements of which of the following
pairs are isobars?

fa)
()
fe)
fd)

\H and SH
{H and 7H
'2C and 'iC

40 40
Byog i o and ap Ca

3. Which one of the following chemical
reactions is not feasible?

(a)
{b)
(e}
(d)

Fe + CuS0,4 —» FeS0, + Cu
Zn + CuS0,4 — ZnS0, + Cu
Cu+PbCl, —+CuCl,; + Fb

Mg + CuS0O, — MgS80, + Cu

4, A solution having pH equal t© zero is
known as

(a)
(b)
(c)
(d)

highly alkaline solution
highly acidic solution
weakly acidic solution

neutral solution

B. Which one of the following acids is
produced in human stomach?

(a)
&)
fe)
(d)

Formic acid
Sulphuric acid
Nitric acid

Hydrochloric acid
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6. Match List-]1 with List-II and select the
correct answer using the code given
below the Lists :

List-| List-II
{Compaund) {Use)
A. Boric acid 1. Antiseptic
B. Citric acid 2. Food

preservative

C. Magnesium 3. Antecid
hydroxide

D. Acetic acid 4. Pickle

Code .

fa) A B C D
1 2 3 4

(b} A B c D

-
£
b
B

X B € . Db

d A B € D

7. The property of the sound waves that
determines the pitch of the sound is its

fa) frequency
fb) amplitude
fe)] wavelength

fd] intensity

[RT.0,




8. fr=fafias § & FW9-m U5 o X-FRo = wd 12. Fefefaa § & fen wen % fafew = s

87 =gTan A 87
(a) 3 T &1 & fdfe @ s ¥ (a) R
(b) A TR A A TaefE Tl Ed g (b) T T
() F= (wad) d @R A Ty wfew lc) FETE[EHE (3M8e 3o)
(=) Bl 1 T o Tt o )
(d) T¥a W ) gEA A e aves age
A (@) o B 13. felt wwrdt (F8in) % <@ s k9 ward b
fa) N-m {b) N/m

9, TH HHae IO T =9 yiafaes % W |,

s 2
Prafrien # & s o T ¥7 i S ol
(a) FEE FHR TE T A @R 14, Fr=ifefas 4 4 9@ v gl (e )
AL T 87
(b) we wifa wu # =gewfue (whieifim/ () B (T
IERT) Bl (b) Hefn
(c) W ArElEF Wk o R fc) aw
(d) o8 ¥im ¥ 98 ) g 3Wh f T (d) wdta (veive)
wal & foeell @ s oo 3 W o
i 15. Fo=fafas 3 & fee woft (she) = = Penim
(- w2) wren R7
10. Tt oiesl (Ufewm) 4 21 guaa =do @ 9. (@) TR
¥
i _ (b) HEHE (W)
(@) TeH-gEL F FHETT
fe] =R

(b) WE-FE ¥ A

(e Wﬁ"@%ﬁmﬁﬂbmﬁﬂmﬂ
(d) TE-FEF WG 45° FH F T EL 16. 9Ed # @i w9 F 2w wewsl W owd
g ettt 4 2 9a-w o 8

(@) 9 (EERR), YO H EE, W,

(d) wFE (FEA i)

11. 7f2 ayg § wFm K 1R (39) 3x10% m/s

afmqmﬁ;mmmﬁamamﬁnﬁ%%.ﬁ Firem (3o, gme & Tawem
T I T = e (b) WO T T, DE, wew, P, gEee
fa) 2x108 m/s w1 fawre
) 2%10® m/s () W, Fii=a, e W e,

2 ’ a5, Ny
fe) ___!:-:10 m /s

(d) 9m, ¥ ® T, TEHGE W T,

fd) 3%10°% m/s o, fEEA
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B. Which one of the following is not a
property of the X-rays?

fa)
(b)

(ci

(d}

They are deflected by electric fields.

They are not deflected by magnetic
fields.

They have high penetration length
in matter.

Their wavelength is much smaller
than that of visible light.

9. Which one of the following is mot true
about the image formed by & plane
mirror?

(@)
fb)
c)
d)

10. In &

It is of the same size as the subject.
It is laterally inverted.

It is real image.

It is formed as far behind the

mirror as the object is in front.

periscope, the two plane mirrors

are kept

(a)
{b)
fe)
)

parallel to each other
perpendicular to each other
at an angle of 60" with each other

at an angle of 45° with each other

11. If the speed of light in air is 3x10% m /s,

then the speed of light in a medium of
refractive index 32 is

(@)
(b)
fe)

fd)

2
2x10% m/s
L] 8

%107 m/s
gxll}g m /s

3x108 m /s

PLKI-S-GNL/58A

12.

13.

14.

15.

16.

Which one of the following types of
radiation has the shortest wavelength?

fa) Radio waves
fbl Visible light
fe) Infrared (IR)
fd} Ultraviolet (UV)

The unit of the force constant k of a

spring is
fa) N-m fb) N/m
fe) N-m? (d) Njm?*
Which one of the [ollowing is mot an
epidemic disease?
fa) Cholera
fb) Malaria
fe) Smallpox
(d} Elephantiasis
Which one of the following animals has a
three-chambered heart?
fa) Scoliodon
(b} Salamander
fe) Pigeon
{d} Human being
Which one of the following is the correct

sequence during ‘sexual
reproduction in plants?

of ecvents

fa) Seedling, formation of embryo,
pollination, fertilization, division of
Zj:ED'IE

{b) Formation of embryo, seedling,
pollination, fertilization, division of
zypote

fe)] Pollination, fertilization, division of

zypgote, formation of embryo,
seedling

(d) Seedling, formation of embryo,
division of =zygote, pollination,

fertilization

[ P.T.O.



17. W us guEae], Gl @ w oot B, A de @ 21. §-1 & gh-1 F wm gifem fAfm e

b mift st ® (de 2 w0 W), WP T g F 41 Ru e 52 W w@m e wd I
ot gt (Beh) # s & T R g
wfeufa % wrm g 27
(o) wEE -1 -1
g (7} (=)
(b) = :
; A. T o (i 1. NaHCO,
(d) T TS B. @F @@ (3 2. Na,COj-10Hy0
wHIEr)
18. Hififr wfEmel & fom ‘S gm (wel C. € T H= (@ffm 3. Ca(OH),
i) Frafafea § & &8 @ 87 wrEt)
fa) YepEs D. 50 83 0 (W98 4. CaOCl,
(b) To Fo Hie i
fe) e o do FE
(d) wgsla® #ra o I T . T S
s T TR
19. TREA-83 A WeR F um fiem 9 gEEn ek’ BT RSN
u=args F=fefiae § 4 -m 27 4 R 3 3
@ B R Sl o i
. <RI WL
(b) HgeTE
7 2 S - TRl S -
(c) TG ST S By
(d) v
22, frma = % fom v o ¥ o I &
20. T T 1 T A, S el v S WY 8 W A H g N wew Fred
£ % wgE w2 ¥, FReE wy 9 A &7
(a) wive () (a) 2
(b) e wEs (b} 4
() HEH ¢ 5
(d) UFfatas (@) 6
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17. When air is blown from mouth into a 21. Match List-1 with List-II and select the
test tube containing lmewater, the correct answer using the code given
limewater turns milky, This is due to below the Lists ;
the presence of

fal water vapour List-1 List-{T
{Name) (Formuda)
(b) oxygen
i A. Bleaching powder 1. NaHCO,
{fe/ carbon dicmde
L B. Baking soda 2. Na,CO,:10H,O
{dl carbon monoxide & il i s 2
C. Washing soda 3. Ca(OH)4
18, Which one of the following is l:he' ‘energy D. Slaked lime 4. CaOCl,
currency’ for cellular processes?
1} Glucose
@ Code :
(b} ATP
fc) ADP fa) A B & D
4 1 2 o
fel) Pyruvic acid
R B NP
19, Which one of the following is the 4 2 1 3
first enzyme to mix with food in the
digestive tract? fe] A B c D
; : 3 2 1 -
faj Trypsin
(b) Cellulose fd) A B C D
3 1 2 4
fe) Pepsin
fd} Amylase

22. The number of water molecules
associated with copper sulphate

20. Mahat Gandhi’s Dandi March, a t i
i 4 Ly moleeuls to form crystals is

event in Indian freedom struggle, was
associated with

fa) 2
fa) iron

fb) 4
fb) sodium chloride
fc]  sulphur e >
fel] aluminium fd) 6

PLKI-S-GNL/S8A 7 [~T.0.




23. =i f wxgd 71 § el @A W I W AR 27. 974G ¥R A F AwE F UR 4 HA T@

Frell B Tt B e sefew e B, it (¥R @1&) it =1 |é WA Frafeia 4 @
fa) =d w1 sAtwdEan gm ® oo fae w-w 87
HTFHTEE =4 A B (a) T® (TET), TEaETE, T, E

(b) T # FHigH wEA TEAEEEE F HY

b , T, qEETe, e
sl F 916, THear e 397 P %

B fc) o, HEaTR, wEmel, Y
fc) B 0 WER & WY AN w1 w98, (d) EwTE, a9, EEr, g
firat weome = U wWa (FfE)
¢ 28, sl # fefufen § @ -l s
(d) ' A AgEeE sieEEs ¥ wy A (GErees) dfa, Im (F2) F w9 7 o R
Fh idl, foaeat mze = § A BT
R :
24. uf2 ux wonent (T faem) =1 awm FEE s il )
Hox & aur o # y R, 7 o fg v Hew & (b) gy (firzgedl)
fa) x=273-y () T (2fRm)
(b) x=273+y (d) smEm (FEd)
fel x=17T3+y
([ x=173-y 20, fi=fafes % & e Sitm amm 4

V- o Tde To 'bpl?ﬂ %?
25. Tl mad 1 ufriasea p e 396 (gPe) §

i = w87 (a) Tl SR (el Aitew)

{a) ohm (b) WY

{b) ohm/em (e} TATEHEM

£ ohmiem (d) TRl S (TErenfEn EwEm)

(d) shm-cm?

B i T : " 30. ¥ @ few awfs 3 fafFen 6 o #
26. fagn-gdm @0, Wi e w@en (Yeme whRe (P B S e )7

) # o e ) wd g, #

(a) e e @) TEEIR
(b) T FafEm (b) TaE
fe) tiam = (c) *ai &
(cl] T WEE (d) el eHga
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23. BSilver articles become black after some
time when exposged to air because

fa) silver gets oxidized to silver oxide

fb) silver reacts with moist earban
dioxide in the air to form silver
carbonate

fc] silver reacts with sulphur in the air
to form a coating of silver sulphide

(e} silver reacts with nitrogen oxides in
the air to form silver nitrate

24. If x is the temperature of a system in
Kelnin and y is the temperature of the
system in 7C, then the correct relation
between them is

@) x=273-y
(b x=273+y
fc) x
fd) x

173+ y

173=-y

25. The resistivity p of 2 material may be
expressed in units of

fal ohm
fB) ohm/cm
fe}  ohm-cm

fd} ohm-cm?

26. The electromagnetic waves, which are
used for satellite communication, are

fa) infrared radiations
fb) ultraviolet radiations
fe) radio waves

{d] wisible lights
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27. Which one of the following is the correct
sequence of organs that oecur in the
path of urine flow in human body?

fa) Kidney, wureter, urinary bladder,
urethra

fb) Kidney, urinary bladder, ureter,
urethra

fe] Kidney, ureter, urethra, urinary
bladder

{d} Urinary bladder, kidney, urethra,
ureter

28. Which of the following endocrine glands
is not found in pair in humans?

{a) Adrenal

(b Pituitary
fe} Testis
(d}) Owvary

29. Which one of the following cell organelles
contains DNA?

fa) Golgi apparatus
(i) Mitochondrion
fe) Lysosome

(d) Endoplasmic reticulum

30. Who among the following scientists
introduced the concept of immunization
to the medical world?

fa) Edward Jenner
) Robert Koch
fe) Robert Hooke
fd} Carl Linnacus

| P.T.O.



31, Foofefaa 4 & fen wiim afgdwm &
31 femmt, 1929 % & pf w=o= H amm
1 71§ 7
fa) HFHEER
(b) FerE

fc) RN

(d) TEIH

32. F=fafas 4 4 fem sifufae % aen fusEee
# wigensil #F fom €2 smitm € nf, < fifim
THEE| % o #iel % e & wgey 4if

{a) vTA gEER wfafEm, 1858
fb) wwdE ufteg fafEm, 1900
(o) vma weEn wifufEm, 1919

(d) wwE R wiatEm, 1935

33. @ 1931 # @4 § gy wfEa wndw =fm @i
I weea (e i fidve = m oied
Fiwta) T Aefefes § 2 Swa-d ui
§ fi?
fa) wETTE TaEE Wit
(b) g * fo srem fPataa-dm
fe) FewEH % fou wnfdm di

(d) \WA W UF U () T
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34, =i # 99 3T dEnd o s sl &

Hegqs! A B T 87
(a) TEFEAY T
(b) FEAETY 2
{c) TIEHFTY TR

(d) ¥R d% TR

35. ¥ @ few geom 3 gEE-u-faeeme € @

(FF) F1 9157 #in T wE 3l v R
Hherdl B 17

(a) TEgamEm
(b] =EiE

(e} FEmEEA fassi

(d) e e g

36. T @ fra wE @ /FE A e T A

& # fom fomg 7 oo 17
(@) A EH

(b) R

(c) g

(d) g &




31. On 3l1st December, 1929, in which one

of the following Congress Sessions was

34, Who among the following was one of the
founders of

the Indian Society of

proclamation of Puma Swaraj made? Oriental Art?

fa) Ahmedabad fa} Rabindranath Tagore

fb) Calcutta {b) Abanindranath Tagore

fc) Lahore fc) Dwarakanath Tagore

(d] Lucknow (d) Bankim Chandra Chattopadhyaya
32. Which one of the following Acts reserved s fallond S

scats for women in Legislatures in 38. Who *'r“““'“gl t ; 3_115 ﬂ"‘b““agk_ - I'L";'

accordance with the allocation of seats succeeded in finally breaking an

for different communities? destroying the power of Turkan-i-
Chihalgani?

(@) The Government of India Act, 1858
fa) Iltutmish

fb} The Indian Councils Act, 1909
(b) Balban

{e/ The Government of India Act, 1919
fe) Alauddin Khalji

fd) The Government of India Act, 1935
fd) Muhammad bin Tughlag

33. Which one among the following was
demended by the ‘Al Tndia Depressad 36. Who among the following Mongol

Classes Leaders’ Conference at Bombay
in 19317

leaders/commanders did not cross

Indus to attack India?

fa) Universal adult suffrage

fal

fb) Separate electorates for

untouchables fix)
e} Reserved seats for the minorities fel
fed) A unitary State in India fcd)
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Chenghiz Khan

Tair Bahadur

Abdullah

Qutlugh Khwaja
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37. TzuwlE v F gl e ¥ &3 § v A A

M T 38 3l e 9y W T ww T
L3

T

1]

¥ v=m (i)
fen ggmam (wfed)

faj
(b)
(c)
fd)

38, ffh smanfe gema el o s R7

(a) i 3 P
(b) SIS AW

(c) -t

(d) wof T

39. WA ¥ &3 7, F=fafas & ¥ fw vyredm v

1 UH U IF wAn (¥ 22 4 asdn)
1 AT 87

fa] =HdH
(b) gty =rE
(c) iR

(d) T

40. Fir it % of g &3 9 St TEn R

W) HE A R

(a) FM o=
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41.

42

43.

12

Frafefan & 4 f9-@ 7 9% s 9 A
Trrereft B 7

{al L
(b) #F
(c) e

(d) &

Frafafs @ 4 F9-w uw af 5/ = v
&Y

fa) ah Ff

(b) FATM & (I i)
fe) TR T ()
fd) & FHaEiw

frfefr § A 97w qf-TwEm o T
&7

fa) A uff

(b) =TTE N

() 39T R (e yw)
fd) Fat (%) 3 =ad wfy

WM (MGNREGA) 1 3w frefafien § 4
#19-91 U TE R7

(a) wH B ad F 100 B o W g
WY WEF

(b) FeTEE wftEdtEl =1 ger (Fmfo)

shfem Fiema = =g

Hite v 5 giifim s

(c)
(d)




37. In the region of eastern shore of Adriatic 41. Which one of the following rivers joins
Sea, a cold and dry wind blowing down Ganpga directly?
from the mountain is known as

fa) Chambal
fa) Mistral
fb) Son
(6] Bora
fc] Betwa
fc) Bise
fd} Ken
(d} Blizzard
42. Which cne of the following i= not a type
38. Nyishi tribe is found mainly in of commercial -agriculture?
fa} Andaman and Nicobar fa) Dairy farming
fb) Arunachal Pradesh b} Grain farming
fe) Nilgiri-Kerala fe} Livestock ranching
fd) Kashmir Valley {d) Intensive subsistence agriculture
39. In the field of touriam, which one of the 43. Which one of the following is not a land
following Indian States is described as use category?

‘One State Many Worlds"?
fa) Forestland

fa) Assam
{b] Pasture land

(b) West Bengal
; =y fc) Marginal land

fe} Kammataka
fd) Barren and wasteland

{d} Rajasthan

44. Which one of the following is not an
40. The number of people per unit area of objective of the MGNREGA?

arable land is termed as :
fa) Providing up to 100 days of skilled

fa) agricultural density labour in a financial year

{b) arithmetic density fb) Creation of productive assets

fc} physiological density {c/ Enhancing livelihcod security

fd) economic density {c) Ensuring empowermernt to women
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45. TAWAl F FEUE % wEy q, frefafs § @
FH-HT HE g8 A6 87

(a) TEEA W0, [oE), ARTED TR 6
e, guw A v (faFEm) = a5
2

(b) wE =hE S 25 o9 w1 W T R, W
TaA # JEe 94 T ue o

fc) WFw WEWEA AU RS S@F (wwr) A
fafa 8 g 9= 391 9% o =
HeAl B

(d) TE YEEE A AEWgE G9e F OAE
grifaa i = B, 9% of smfa F S
B e o W T gl B

46. WA WOER T HEd AN § Sens 7 4
Frofefes 4 4 f-d 27
(a) AT STERE qE
(b) THTTA! T WEE T
fc) WiHE ET AW A

{d) T e T e D

47. HOE W WHE &3 BEm 4 (MPLADS)
% fmg % P=fefas 4 @ ¥=-w1 =@ @
il
fa) F9 AAA1 % GEG FE) F| GHE W W,
w0 )

(b) WHZ F WAME wWew W A W of
Fraitaa e o & o =l 6t gl
L WFEA B

fc) T A NN GOER T Yoiaa R
21

(d) wf vz gee aids e F5 08 B
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48. dvm, s wma wEn i wE gwn B,

49,

Frefafan 8 % fFw da @ dafua 27
(a) wf ftEm (Hie) Fegdmo wm s

(b) wim afEEl ) e e o s
TE W& Al

(¢} TRe wie o W wWEIAH (WEEE) =

(d) W& WUIEE] T (Al

TuE garm (F41R) = Ity Prefefas 78

s wlitae waEl 4 o § @ el
TEiETl S U w27

(o) EFATH A9
(b) FEW (Waw) #few wgeF (POPs)
fc) 9T (9R=)

(d) vETER 3 dewaeh (SEans)

50. WA # AfEes ¥ wEEd (wweEm) ¥ A

(afem #9) =1 wad wqm www Prefafen 4 4
wA-a 87

(a) TR
(b) Taen
(c) Taam

(d) ()




45. Which one of the following statements
with regard o the functioning of the
Panchayats is not correct?
fa) Panchayats may levy, collect and

appropriate taxes, duties, tolls, ete,
() A person who has attained the age

of 25 years will be eligible to be a

member of a Panchayat.

fe} Every Panchayat

continue for five years from the

date of its first meeting.

A Panchayat reconstituted after

premature dissolution shall

continue only for the remainder of
the full period.

shall ordinarily

(el

46. Which one of the following is the earliest

launched scheme of the Govermment

of India?

faj Deendayal Antyodaya Yojana

{b) Pradhan Mantri Gram Sadak
Yojana

fe) Saansad Adarsh Gram Yojana

fd) Deendayal Upedhyeya Grameen

Kaushalya Yojana

47. Which of the following statements is not
correct regarding the Members of
Parliament Local Area Development
Scheme (MPLADS)?
faj Members of the Parliament [(MPs]

sancton, execute and complete

works under the scheme.

Nominated Members of the

Parliament can recommend works

fbj

for implementation anywhere m the
country.

fe)} The scheme is fully funded by the
Government of India,

fd) The snmnual entitlement per MP is

¥5 crore.
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48. Saubhagya, a Government eof India
Schemne, relates to which of the
ollowing areas?
fa) Achieving universal household
electrification

fiz)  Providing clean cooking fuoel to
poor households

fc)] Rationalizing subsidies on LPG

{d) Stopping female foeticide

49, The “Baszel Convention' is aimed at
protecting human health and

environment against adverse effects of
which of the following?

{a)

(b)

fe)

(cl)

Hazardous wastes

Persistent Pollutants

{POPs)

Organie

Mercury

Chemicals and pesticides

50. Which one of the following is the biggest

cause of

incidence of migration of

female persons in India?

(a)
(b
fe)

(d)

Employment
Education
Marriage

Business

| P.T.O.




51, W = () % = 4, Fefafea § & F¥9-m

T wel R

(a) W& AFEY @ (HEEEE GH) W
1 9% (B=a =) o e ==
TR

(b) UR HeUEN FOmEW [STEERE ATEN
(3urfl)] = =i 9= g SR
== R

)] T Bt iR 9 SR A F
e s wfaw 3 wewa =ne = R

() w® Harid= wiqfo (Regid) 1 @m
(@) #

52. %4 frod sgma (%w fred ) feld P

il B7

fg) FEm (32) win an safs Tafal
(Famsit) %1 =9 = Wo yiEgi F sy
i A ) U v (GwrerEn) B 3

(b) Taa win s wrafos i =1 s
3 WHe dle F@Ho F yE I (FFW) F
w4 A ¥ W U5 W@ w2

o) Tmm ol s wEfus Tefdl = @9
N 4 W I T T S s S e
| T mEn T R

(d) wE aiiE of W &% % e F Wy
I

§3. dwa o, gfe Tt stm A vw T, wofes @

Tl B oW S AW F wWe 45° w1

wEt & on wm EEn PR o R R tan #

wY-HY (FHE) X =Y %, @ s=fm e d

w1 WA femn wn 27

(@) @ afEd (=) 1@ @ )

(b) =i i e g (gfe) # 8

fe) B ufeadi stem-sem (=) Tedl #
L]

(d) FH-H-HH TF GREH 0 o e
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54. FIF FEata wad, 2019 W wEdE yA
Taemdl yeemr v @ fed wm gen?

(a) THiEEE Tes
b) affe am few
(o) Torde Wl
(d) =

55, Taa=w 2019 #, Frefafan 4 § e 28 daa
O 3 wR-am F Rafen oife e

(a) wEAditE

(b) wiew g g
fe) THo #io FHo Hio
(d) ATE FH

56. 121 w7, v= Feein wiaw wfirgaEd = v
1 8 o) § o), we w3 aeh 2

fa) wHiega
fb) =
fc) o TWHe To

(d)

57. A @ 7 vl ol & 3, yeeme A B Ww
#l sy F o, Feffa d 8 e s &
TR T g B feed o aE w
uftreg s &7

fa) ¥E6ES W

(b) Sl &%

(c) YA T HEE HieAaied &=
(d) w=Y §eT 4%
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51. Which one of the following is not correct
about Repo rate?

faj Itis the interest rate charged by the
Central Bank on overnight loan,

fb) It is the interest rate paid by the
commercial banks on overnight
borrowing.

fc) It is the interest rate agreed upon
in the loan contract between a

commercial bank and the Central
Banlk.

{cdl Itis the cost of collateral security.

52. The Cash Reserve Ratio refers to

fa] the share of Net Demand and Time
Liabilities that banks have to hold
as liguid assets

(b) the share of Net Demand and Time
Liabilities that banks have to held
as balances with the RBI

jc¢} the share of Net Demand and Time
Liabilities that banks have to hold
as part of their cash reserves

fd) the ratio of cash holding to reserves

of banks

53. In economics, if a diagram has a line
passing through the origin and has
45" angle with either axis and it is
asserted that along the line X = Y, what
is tacitly assumed?

fal] Both variables are pure numbers,
(bl Both variables are in the same unit.

fc/ Both wvariables are in different
units.

(d) At least one variable iz a pure
number,

PLKI-S-GNL/S58A

54. Who among the following won the Best

Men's Player Award of FIFA Football
Awards, 20197

fe) Cristiano Ronaldo
(b} Virgil van Dijk
fc} Lionel Messi

(d] Xavi

« In September 2019, which one of the

following travel giants declared itself
bankrupt?

fa} Expedia

(b) Cox & Kings
fe) SOTC

fd] Thomas Cook

66. Greta Thunberg, a teenaged environment

activist who was in news recently,
hails from

fal Sweden
{b) Germany
fe) USA

fd) Canada

57. Recently the Reserve Bank of India

has imposed limitations, initially for
a period of =six months, on the
withdrawal of amount by account
holders of which one of the following
banks?

fa] Indusind Bank
f#) Dhanlaxmi Bank

fc) Punjab and Maharashtra
Cooperative Bank

{d} South Indian Bank

[ P.T.O.




58. sfam @== i we @ { vl @ wRe
Wiew YR WaE e | v @ e 1w
T WA TR Y1g] o977
(a) JEATE FR
(b) T
fc) WHET™ HE
() e

59. uftg ya faa, faud i =) awifie (a=)
T AR SEETE TS ST g gwian R,
i § e we Fawan o w9

(a) = AT
fb) S T
fe) BEEA

{d) TamrEm

60. ‘gTE wAEE wone! (wan) % = d, Fr=fifes
A B -8 e wE Y
1. 9@ 98w W (9dEs) § geeeEn
#1 feufa & 0% 3o = =% 91
2. ‘van’ ¥ YoEan] §) W g w1 g
91 ¥ FAEEER ) W@ 0 4

3. el wwedl ¥ 1000 wwEr i
‘Han YT @Y™ TE4 9l HAHEEen] #
FIFAEE (3A0) F w4 ymm R
Tl =11

+rd faw v 2 % wEm w=oEd I R
fa) =@ 1 302
(b) #a® 1 3N 3
c) Faa2 3n 3
(d 1,23#m3
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61. F=fafae & -1 w 7w = gafem o

&7

fa) FEH-FA i Wl T g
fb) S : v

fc) TH% T

(d) EEEa : 3R v

62. Fr=fofan & & #-3 wms wgaEt (v &

9§ W e o am) & yEee e 47
fa) W H T

b) Toiaen & fags

fc) Az

{d) HEEmA

63. YEaa & W YEwE F A 1, Feafaiea 4

q FH-91 FE T 87

fa) w& % IRi-E geee (Fw) & 5 5
% gre-TaEr = v ¥ sl afrend
gl 1 WA =

fb) 48 w-Tgw 4 =it B o o
Here ® 9 feniers Rem F e 0 R

fc) 48 wiElo® fagm & fafim &= 7 Gwm
ot o T B gEens R

d) W& ZEEl % wew § sl T
gee ® 5 = w =ife s @ o
F] SE |




58. Amitabh Bachchan Was recently 61. Which one of the following pairs is not

conferred with the prestigious Dada correctly matched?
Saheb Phalke Award. Who among the
following was the first recipient of fa) Kuddapah-kar : Rocky wastelands
the award?
i : Wet fields
{a) Prithviraj Kapoor {b) Nancai et fie
fb) Devika Rani fe) Punecai . Dry fields
fe) Sohrab Modi
: land
{d) Naushad fed) Tottakal Garden lands
59. The famous Mughal painting, depicting
Jahangir embracing the Safavid king 62. Which of the following rulers were
Shah Abbas, was painted by which one identified through matronymics (names
of the following Mughal painters? derived from that of the mother)?

fa) Abd al-Samad

(5) Abul Hasan fa) Mallas of Pava
¥

fc) Dasavant () Videhas of Mithila

(d] Bishandas
fc} Yaudhevas
60. Which of the following statements about

‘Mughal Mansab' system are correct? fd} Satavahanas

1. 'Zat' rank was an indicator of a

Mansabdar's position in the
. : 63. Whi i followi tatements
imperial hierarchy and the salary of hich one of the fo g 8

: of Panchafantra
o L about the famous text

is correct?
2. ‘Sawar' rank indicated the number

of horsemen the Mansabdar was (@)

It is 2 philosophical text reflecting
required to maintain.

the debates of the time and refuting

3. In the seventesnth century, rival positions.
Mansabdars holding 1000 or above
‘Sawar’ rank were designated as fb) It is a text ushering in linguistics as
nobles (Umara). a formal science.

Select the correct answer using the code (e} Ttisa text discussing developments

given below. in wvarious spheres of natural

fa) 1 and 2 only sciences.

(O8°S. T 3 (g fdl It is a text showing through
fe) 2 and 3 only illustration what should and
fdi 1, 2 and 3 should not be done.
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64. E9 3R wig Yo (famm) =) vl =0 99 68, ®eell Ba arffy whgss #, g sw 33 & an

Y-l s (vew) & siam: wel WA = 37
(a) Fae e w0 R I (T=EE) fa) SAToEEE s i
(b) =TE WTE R fEs Iw ®) e

(e) &TE HI, BE AH W IR (c) I TE-ZTE A (FrE)

d T, BT S e i ey 2R
(d) TTe /i, GBI 7 EeR 3T (@
65. el & Fr=fefea # 4 frw wag § ggofl 0%

\ Freafin o o s 27
(a) ETEIUEE 3R FHZE

EEiEiE
(b) Torem ai o fe/
(c) e U st e (b) fete
(d) =\ A i Fade (e) reirETe
(d) TEETA
66. Fieferfian & & #m-wh 3o gy awd £7
(a) FOTR s Frtm aw 70. VaTH Wit wis o g A, feafafaa § 8
(b) TN FATATEH AUER A ATHA G Eﬁf?ﬁﬁiﬁ)nmﬁ:mmuﬂnﬁ
(e} W 3 dquen v 1. A aw @ wma ¥ Al §)
(d) wiad vaq swaw (A= e Tw) sin 2, & 9 Pt T § o A
FleeTE W 3. W TR ¥ R v # 3 s e
L4l
67. WA e uewl/Ae =gt A 9 @ ot 12 o 0 2 =1 wim @ I i)
Hertga = §7
fa) 1,233
fa) 1
b 2 (b) FEw 2 33
fe) 3 fc) @@ 132
(d) 4 (d) =34 1
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64. CGeomorphic factors influencing plant and
animsal distributions are

fa) slope angle and reliefl only
fb) slope aspect and relative relief
fe) slope angle, slope aspect and relief

{d] slope angle,

relative relief

glope aspect and

65. Which one of the following groups of
cities does not have Sclerophyll as
its natural vegetation cover?

() Valparaiso and Cape Town
{b) Lisbon and Perth

fc) Los Angeles and Adelaide
fel Las Vepas and Queensland

66. Which of the following are warm ocean
currents?

fa)
(b)

Kurosghio and Califormia Current

North Atlantic Drift and Brazil

Current

fc) Canaries and Benguela Current

fdi West Wind Drift and Falkland
Current

67. In India, how many States/Union

Territoriece have more than two

international boundaries?
fa} 1
fb) 2
fei 3

fd) 4
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68. In the Hadley cell thermal circulation, air
rises up and finally descends at

fa} intertropical convergence zone

fb) doldrums

fe) subtropical high-pressure cells

{d} equatorial troughs

69, Which one of the following
characterized by very high content of
organic matter?

solls 1is

fa) Vertisol

{&) Histosol
fe} Qelisol

fd] Spodosol

T0. Overseas Indians can exercise franchise
in an election to the Lok Sabha under
which of the following conditions?

1. They must be citizens of India.

2. Their names musat figure in the
electoral roll.

3. They must be present in India to
vote.

Select the correct answer using the code
given below.

fal 1,2 and 3
fb) 2 and 3 only
fe} 1 and 2 only

fd) 1 only

[PT,0.




71. FefafEn A & fR-d s fima e

ST Grere o) At R7

(a) TEH TRER ¥ AR M Wy w o
F=an dm (99) T R

(b) FETE A WG W IR % AR A F
&= 36 gra | witfem 8

fe) uft Fafewem snwam % fom o fifim
giEE s oft sl ) yeE e
W |

(d) W% e Wi wfEw P10 W@ = ™
STE wEH e R

72. FefofEs # & ¥9-8 o T % 97 @

o e &7

fa) |wm (Fregean), womETE, IEET i
Lt Enu]

(b) WA, IearEwar, aoihe 3w gwefre
(Tern)

fe) IeEwar, fom, awETR v gEm

(d) =W, IeAEE], SHETE SR qmE

73. dfavm (8eal w¥iem) sfufEm, 2002 ¥

ey 8, Fefafaa & @ e w & @
woeq & w9 1 uidfem fem mn ¥7

fa) =y v wmfes whegm (Brosam)
# spem % fo e w0

) 6 ¥ 14 = N =y F I W ¥
%! fien & s=m wem w5

e) Taal i ==t & weam % fon = ==
(d) A 3 ev=g *) "gEn &
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74, WG % wWiEum W Tefefen § 8 -

Fg=dz, ot wa | el e B o wE
L34

fa) T 20
(b) ¥F=aT 21
fc) #gwis 22
(d) Fig=es 23

75. WRE A g g & an 8, fefafea s w

Toran $ifsm

1. fafim i = ver F sherl & waw ol
Tireafasms % smam 9 uwam = B

2. fafim gl % s/ el ¥ ywm ain
gt 7 w0 aefia R ol &

3. faftm ot & wmwm g d=R @
Tmaly 4 us sfuPe o @ @
uFEEH &)

I B A F-T/A wen w0 Y
(a) Faw 1

(b) Fae 1 3l 2

() e 3

d) 1,233

76. Fi=fofas & 4 fea fwfh (R e 8

o T #W wd gEe () ¥ 3w R
w4 i faw A fafim wmon wfew § 99
w947

fa) HF ¥R Tt wmieal

(b) TREEE T Ead

fe) =g eyt

(d) w5 el




T1l. Which one of the following is not a
feature of the Ayushman Bharat
Scheme?

fa) There is no cap on family size and
age.

() The scheme includes pre- and

post-hospitalization expenses.

fe] A defined transport allowance per
hospitalization will also be paid to
the benefliciary.

fd) The scheme provides a benefit
cover of ¥ 10 lakh per family.

72. Which of the following are considered
to be the four pillars
development?

of human

fa) Equity, inclusion, productivity and
empowerment

(b)

Equity, productivity, empowerment
and sustainability

fc) Productivity, gender, inclusion and
equity

{d) Labour, productivity, inclusion and

equity

73. Which one of the following was added
as a fundamental duty through the
Constitution (86th Amendment] Act,
200272

fa) To strive towards excellence in
individual and collective activity

fb) To provide opportunities
education to one's child between
the age of 6 and 14 years

for

fe) To work for the welfare of women
and children

(d} To promote peace and harmony
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74, Which one of the following Articles of the
Constitution of India protects a person
against double jeopardy?

fa) Article 20
(b) Article 21
fc) Article 22
(d) Article 23

78. Consider the following statements about
Stone Age in India ;

1. Different periods are identified
on the basis of the type and
technology of stone tools.

2. There are no regional variations in
the type and technology of tools in
different periods.

3. Stone Age cultures of different
periods evolved uniformly in a noat
unilinear fashion all over the
subcontinent.

Which of the statements given above
isfare correct?

(@) 1 only

fb) 1 and 2 only
fc) 3 only

fd) 1, 2 and 3

76. From which one of the following factory
sites were limestone and chert blades
mass produced and sent 1o various
Harappan settlements in Sindh?

{a)
(b)
fc) Chagai Hills

Sukkur and Rohri Hills
Khetri in Rajasthan

fel] Hills of Baluchistan

[P.T.O.




77. T TEn-ww-gmEiE @ o W o
1757 = avia w0 &, feud oo frdt i
4

fa) HEET =N
(b) =" T H

(c) T B
{d) TR HET 19

78. %M U8 gaww @1 7% 1836 ¥ yndg wwen A
g v wmfr % fom wfee wan' =@
sifimeg (Tesngm) 47
fa) wE AlFoe
(b T8 g
(e) wiE FEm
(d) FFereeE o

79. ‘wEsid awr’ Ft wien BeaE g 6 nd @7
fa) F=Ad TR BAT 1839 A
(b) ¥H 9F A W 1857
fc) H&E FTAR =W T 1850 §

fc) T TR SN 1840 #

80. Wid 3t 4o wHe We ¥ W wEh W m
fdm &= s F s = am B om
qi7

(a) Tow Toom (S Zavs)

(b) wll Fea (ufebe ZgeE)

fc) = fa=a (zmm zgers)

(d) &S (Sl ) B (A aeees)

PLKI-5-GNL/58A

Bl.

B2.

83.

B4.

S’ wa = U it Imma B
(a) Tafem
fb) vEFE
fc) HEEEA TeW
fel) TR

924 wwEdll sEmgd  (yEETl) ¥ wddw
Haidy fn 5w 6 ol ¥ R wmm &
apfTivs ufaf frafafae § 8 S-G9 27
(a) gFEE =

(b) G ZeEa

(c) it ATE

d) TR Aty

e Mo sarE fees g B e 27
fa) Tore ¥z Ao iem wrEdwm

(b) ATEES I FEEEEE YO

(c) Feiin e Hin Yreie

(d) T Pfesieiows sFETE

‘it Hiew ek Rl frum 27
(a) =g

(b) =AIEETS

fe) Targ

(d) T

Pefafgs & & 29 aof § a9 @
A % w0 § wh, S e afw d
gindry sufEn € e =1 F e

fa) %4

(b) wfFm

(c) gamE (ge)

fd] =49




77. The work Siyar-ul-Mutakherin, which 81. ‘Naropa' is an annual festival of
describes the Battle of Plassey, 1757,

fa) Sikkim
was written by (%) Ladakh
fa) Salabat Jung (c) Arunachal Pradesh
fb) Qasim Khan fd) WNagaland
fej Ghulam Husain B2. Which one of the following is India’s

official entry for the Best International
Feature Film category in the
G2nd Academy Awards?
78. Who believed that the Russian designs fa) Bulbul Can Sing
were ‘an imminent peril to the security
and trarguility’ of the Indian Empire
in 18367 (e} "Guily Boy
{d) And The Oscar Goes To

{ed} Ram Mohan Roy

(b) Super Deluxe

fa) Lord Auckland
83. The Global Goalkeeper Award is given by

fa) the Bill and Melinda Gates

(b} Lord Palmerston

je} Lord Canning Foundation
{d) Alexander Burnes fb) the United Nations Environment
Programme
- lof M t
79. The ‘Tattvabodhini Sabha’ was i sthe: KeDagg:Gcbonl ot AanoEEICn
established by {d} the World Meteorological Organi-
zation

fa) Devendranath Tagore in 1839
84, 'Gandhi Solar Park’' is located at

faj New York
fe) Akshay Kumar Datta in 1850 (b) Vladivostok

(b} Keshab Chandra Sen in 1857

(dl Dwarakanath Tagore in 1840 fe) Thimphu
{d} Houston

80. What was the code name given to the 85. Who
firat ever tri-service military exercise
between India and USA?

among the following was the first
to arrive in Africa as traders that
eventually led to European colonization

fa) Lion Triumph of Africa?
fa) French
fb) Elephant Triumph
{b) Spanish
fe} Tiger Triumph {c) Portuguese
{d) Bison Triumph {c) Dutch
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86. Fivw w% fufseft ifmfn, % sawam 89. fferfian & 4 Fm-d woy sl wwiv 6 wa

e gEiae) | Hag 8, Ful e 27 sy T 27
@ o fal 3%
b ,
(b) %3“{" (b) TR
s fe) IR
(c) U
(@
90. 7= R % %% wn § F=fefes § @ faa
87. i 3w fafRe (dHe wme ume) ¥ ey 4, wqﬁ_mﬁnw‘??
faifafian 3 ¥ S-m/@ = w0 2/87 fa) WFE-gUTE ($8)-gid)
1. o #M¥o Tee W YeAH e # (b) SA-Teradt (areAl- )
21 fe) A==
2. e 3MEe YFe 82 WA-aH1 | wftarfem d)
we R S wra F Wiw widm o= 0 58 r’
R ; 91. Frfeflan # @ fm sg=e =1 wwids
3. Hio 3mge Eﬂﬂlﬁﬂ#f{mmﬁ Ble Wle e WEEH g0 T 7 T FF T
WA I ) & a1 T e WA sifw 3y’ # w9 § R
A3 o g g2 1w = T I S
: fa) e 352
o 1
il i (b) 3978 359
(b) #E® 1 3w 3 () = 356
(c) Faw 233 () ST 368

(d 1,2#R3
92. #T=d% 32 F afiA seem =rew few aman
T UEd & o0 5 o wea R7

88. 9 ¥ # Fwfafea § § ¥-m weEm yEw (@ =fm =ifs uw s () =mEEE 3

e &7 ITER (39 T Gehal B

(@) IUYEW (39-sTHRE) (b) T e aet 6 wts 99 Tif
(b) SHETETHE Y= wHE 1 fc) ?%ﬁﬁq@mﬁwwmﬁﬁm
c) I Ry

) whm i (d) T wiswraal 3 3|/F amE (3R) W
(d) 3= WETEIIR ey @ i wafed fre & fom i wdi 1 8
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86. The College of Military Engineering B9. Which one of the following is not among

affiliated to Jawaharlal Nehru the principal languages of Jammu and
University is situated at Kashmir?
{a) New Delhi fa) Urdu

fb) Gujari

fb) Dehradun
fe) Koshur
fe] Nainital

(e} Monpa
d) Fune
i 90. The major part of Central Asia is
dominated by which one of the following
87. Which of the following statements with languege families?
;‘c;s,a.;r! 1o Coal India Limited (CIL) is/are ()  Tido-Exitopean
rue

{b) Sino-Tibetan
1. CIL has itas headquarters at .
Kolkata. fe) Austric

iy {d) Altaic
2. CIL operates through 82 mining

Sieas Sprandoeey teely pravincie 91. Which one of the following Articles was
Sitee et ina. defended by Dr. B. R. Ambedkar on the
3. CIL is the single largest coal- plea that it would be used as 'a matter
producing company in the world. of last resort’?
Select the correct answer using the code (a) Article 352

given below. {b) Article 359
{e) Article 356
(d) Article 368

fa) 1 only

fb) 1 and 3 only

92, What is the ground on which the
Supreme Court can refuse reliel under
Article 327

fe) 2 and 3 only

(d) 1,2 eand 3
fa) The aggrieved person can gel

: : : remedy from another court
88. Which one of the following climatic types -

is found in Central Spain? {b) That disputed facts have to be

investigated
(a) Subarctic fc) That no fundamental right has

{b) Mediterranean dry hot summer been infringed

{d} That the petitioner has not asked
for the proper writ applicable to
i) Humid continental warm summer his/her case

fe) Subtropical Steppe
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93. Wil I@M R §% Iun gaen s fiee
a1 BT

fa) Wit T fym wE 3w s SRR
=TI Han fEam

(b) wF M fEum W I AR AwiE
= gada faum

(c) AMPE 3w sheifm sgEus fBwm @
et e fsm

(d) W =M faam @ e T R

94. wia ¥ yren il swEm B o 7R fea
T At

fa) 1949
fb) 1950
fe} 1951
(d) 1952

95. ¥ d T dfum s i m sm o &
26 FWAl, 1950 W Yug  s@EDd
(fatrenwma) & shemrre 8§ i #1 m @7

(@) =i dio Mo IEEEE
(b) FETEE T

(o) TERE T

(@) o o HEri

96. & W AE =0 & ok Bar F amd
(Fa) 7 Fola 97 ) 3590 g=em 6 ofE
1 FEeATd B?

{a) @i it
(b) @RS (W) ST
fe) wEtfo i
(d) FETEET At
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97. WFEE €1 Wiis wewsEr wfmg (EAC-PM)

F HeuE T A T 27
(a) T e drEE
(b) TeEw =y
fc) Sl TEEA
(d) W fmig

98. T frm 3w ) wig woeh 7

(a) =R
fb) A
fe) WETRE

fd) A9

99. WAl Y AN w1 fFEmAm wEiw @

uEs, T w@ @ 8 e @ o B omn oo,
wwl o B7

(a) T =l F=wdn

(b) HEVEE R

fe) FA12H

() Temr=e 2w

100. #H-2, ¥ ¥e @ A FAlew § gheamea gan

o1, 991 97

fa) =g o
(b) e
fc) whEes fum

(d) THa-tEg  (E=afem) amdm 9w
(wtez whaa =fwa)




93. The Ministry of Heavy Industries and
Public Enterprises consists of

fa} the Department of Heavy Industry
and the Department for Promotion
of Industry and Internal Trade

fb) the Department of Public
Enterprises and the Department
for Promotion of Industry and
Internal Trade

fc) the Department of Scientific and
Industrial Research and the
Department of Heavy Industry

(d} the Department of Heavy Industry
and the Department of Public
Enterprises

94. The First Delimitation Commission in
India was constituted in

(@) 1949
b} 1950
) 1951
{d} 1952

95. Who among the following stated in
the Constituent Assembly that on
26th January, 1950, India was going to
enter a life of contradictions?

faj Dr. B. R. Ambedkar
{b) Jawaharlal Nehru
fc) Mahatma Gandhi
fd) 8. P. Mukherjee

96. The power of the Supreme Court to
decide in the case of a dispute between
two or more States is called

fa) eriginal jurisdiction
fb) inherent jurisdiction
fe] plenary jurisdiction

fd} advisory jurisdiction
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Who among the following is the
Chairman of the Economic Advisory
Council to the Prime Minister
(EAC-PM)?

(a] Ratan P. Watal
{b) Bibek Debroy
{e)] Ashima Goyal

{d} Sajjid Chinoy

Hilsa is the national fish of
fa) Pakistan
{b) India
fc} Bangladesh
fdl Nepal
The Vijaynagar Advanced Landing

Ground of the Indian Air Force, which
was reopened recently, is located in

fa) Jammu and Kashmir
fb) Arunachal Pradesh
fe] Kammataka

{dl Himachal Pradesh

Rustom-2, which crashed in Karnataka
recently, was ajan

fa) fGghter aircraft
{b) helicopter
fc) transport aircraft

{d} unmanned aerial vehicle

| P.T.O.




101. wuy (a7) Fogdm Hefs spam, el g, 105, ¥ A (1882), @ wia # fhan =i &R

T 3in wricie wive 9, w1 ga0 @t 1 gagm &= & T Fafe femown ),
fa) 9 T ¥
(b) ==d (o) Tshoem (afEfEd) B = flw
foan
fc) GO
(d) e (b) 1854 ) iy (Um) =1 w B
fe) et fhen o st o9 (FE9) 3§
102. WA ¥ =5 =maem i = (I = el 1854 F T W A e
fr=faftan & & o sffem )/ smm g e
geile b (d) Then % wEEW AN WM AT =
fa) e R sfufEm, 1919 b
(b) =N FmEm (e FHEE), 1923
fc) T HER AbPEm, 1935 106. =A% gAEl B wafm wft e w s

T 1 wifts s we AR &7
(d) i o swiufEm, 1009

(@) W I HEE
103, T wfaf’ f = e § 1914 #

R 7 (b) T e
(@) FEHAY HAE (c) T Fmtem s
(b) o Fe E (d) v FatEa smam
() At wTad
d) FHe
o N 107. WA & HEwE 1 119 sggs FEs i
wrierat =i fefem et R7
104. =oF (Zfm) w1 feEr Tsu snfisfs &0 @
widtg WY # e ad vt gt (a) T9 3 =g fauETEs
(1 Ao (b) T faurEe ok duEm
(b) 1950
fe) R M 3R =
fc) 1949
{d) 1947 (d) Tm A 3N TEEE
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101. The maiden {irilateral naval exercise
involving India, Singapore and Thailand
was held at

{a] Port Blair
(B)
(c)

(e}

Chennai
Panaji

Kochi

102, The creation of a Federal Court in India
was advocated by which of the following
Acts/Commissions?

(a)
fb)
fe)
()

The Government of India Act, 1919
The Lee Commission, 1923
The Government of India Act, 1935

The Indian Councils Act, 1909

103. Who f[ounded the
Allahabad in 19147

‘[eva Samiti' at

(a)
(b)
(c)
(d)

Hridayanath Kunzru
G. K. Gokhale
Shri Ram Bajpai

T. B. Sapru

104. The State of Hyderabad in the Deccan
officially acceded to the Indian Union

in the year
a) 1948
(b) 1950
fe) 1949
([d) 1947
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105. The Hunter Commission ([1882)
appointed to survey the state of
education in India

{a) deprecated University sducation

{b) overruled the Despatch of 1854

fe) endorsed the Despatch of 1854
with greater emphasis on primary
education

fd} criticized the grants-in-aid system
of schooling

106. The power to legislate on all matters
relating to elections to Panchayats lies
with

fa) the Parliament of India

(b) the State Legislatures

fc) the State Election Commission

the Election Commission of India

(d}

107. The 11th Schedule of the Constitution of
India distributes powers between
the Stats

the Union and

Legislatures

(a)

the State
Panchayat

(b} Legislatures and the

fe) the Municipal Corporation and the

Panchayat

fd} the Gram Sabha and the Panchayat

|P.T.O.



108. TEd & S % HO" A WHa ¥ gEum &
ey, Fefefas 3 @ fom o o=a w0 e

it € #7
(@) T fb) g
e} =EH fd) TE

109, F=fefes § 8 f9-5 = = v § T

iyt 27
fa) &M (b)
() =M (d) ==

110. ¥ W& e (T wfa udedt/ Nwa)
el o w7

(a) <EUEA
(b) TR
fe) ¥mrE

fd) TEEHIHE]

111, ¥ wEE =@ 8§ Any %@ T aw ¥ e
(@) = wft s Frefefaa § 4 S9-m
&

(a) T =mm, dem s@m, fEw s,
= amm

(b) TE=T FEm, S aEm, e,
ECHIEY oy

(o) A= s, et smm, G oamm,
Fdm smgm

(d) TEm smEm, fam smm, 9 s mm,
frafem smim
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112. e @ sft=m (IPRs) & way W Aifa
Fawaqm (gl e aifie 27

(a) Tafh v =ma T
(b) T i SenfE Bam
fe) Fam N Al =T HEdE FHam

fd} A wHYE EEE gae

113, HERey ¥ WOEll % WY (AYUSH) ®qe i
e & A (Fimmm) Feafafas 4 3 &8 &9
T RY

(a) HA
b) Tam
fe) Hra-fog
(d) T

114, Bg% TE waiEm FEEN  (AEE Aw
aEeEe yam) % fau wma 7 feafafas 8
A R e i (Free wiE) = T
L4
(a) TETEE, 9 U@ FEEY 9fEd aeE
(b) Tagm i denfied daem
fc) u=h Tagm Haem

(d) & T

115. 2011 ) F90E F FFER, W A ¥R Em,
Tore wardht (srafts) w0 =0 w=a & saig =
TR A A A T F P e w
g ., o wlowem (wmam) e 7

(a) 25% (b) 35%

(c) 45% (d) 55%




108. The provisions of the Constituton of 112. The formulation of policy in respect to
India pertaining to the institution of Intellectual Property Rights (IPRs) is the
Panchavat de not apply to which one responsibility of

of R BB TN fa) the Ministry of Law and Justice

fa) Meghalaya (b) Tripura fb) the Department of Science and
{c) Assam fd} Goa lechnology
fe} the Department for Promotion of
109. Which one of the following rivers Industry and Internal Trade
does not drain into Black Sea? fd) the Ministry of Human Resource
Devel erit
fal Volga (b] Dnieper TS
) Don (d) Danube 113. Which one of the following is the latest

addition to the AYUSH group of

health care system?
110. The National Water Academy (NWA) is -

located at fa) Unani

fa) Dehradun {b] Siddha

(e} Sowa-Rigpa
fd) Reiki

{b) Hyderabad

fc) Bhopal

114. Which one of the following is the nodal
sl : : :
e o e agency in India for the United Nations

Environment Programme?
111. Which one of the following is the correct

sequence of formation of the
Commissions starting from the earliest?

fa) The Minisiry of Environment,
Forest and Climate Change

(b) The Ministry of Science and

s - o
fa) Finance Commission, Planning Technology

Commission, Investment Commis- y
sion. Election Commission fc) The Ministry of Earth Sciences

{b) Election Commission, Planning (d) The Ministry of Home Affairs

Commission, Finance Commission, 115. According to the Census 2011, in India,

Investenent: Cammission what is the percentage of people

fc) Planning Commission, Election (approximately) considered o be

Commission, Finance Commission, migrants (internal), i.e., now settled in

Investment Commission a place different from their previous
residence?

(d) Investment Commission, Finance o > B
Commission, Planning Commis- (a) 25% b} 35%
sion, Election Commission fe} 45% fdl 55%
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116. WA ey % v FM wegr 93 1fa 3 e 400 118, faw W femw (s hem 2), 2019 =

wiafes wamh B 30 s F o i § s W, Frefafas § 8 9-m 2 o
(#fiftet) & ¥9 § % 501 =1 97 foem B,

ﬁﬁzﬁmf?ﬂﬂﬁﬂﬁwm fa) Yo THe Uo

M| JE HY H9GE F T A D w0 w

# gl ¥ W mag B wewm wvE (e (b) WA

wrm) Frafafaa 5 4 S-di &7

fa) ®1,100 fb) ¥700 g ¥4

fe) ®400 (d) ®300 (@) wE

117. -1 = g0 ¥ wy gifea $ife e
gl % 9 R g 52 = owan woad

g ; 119. fasw wem (BRICS wfir), 2020 #1 A=
as g 4 snofi?
-1 Het-nn
A i i 1. o R (awg) ) fef 3o
TF INEH B R 5 (b) =R
B. usifusn 2, UH-®1 IwE WA wWEY %
(warite) Frarl 4 fahl 59 semEw (el
g o s N
C. umifuza 3. fanfea sendl ot foht wga-
iR 4 ImreE g e s
D. Zwfasn 4. -4z ) fihl wga-
(siferitef) # Il g i s 120. WA @&R A g9 § § wen e wE F
AW W U Wi g i (genfia)
e : &1 % Yo w8 7§ 9 % o i
fal A B C D
L fa) W 6 A 3 s
B A B € D
fc)] A B C D
g U I R (c) wmfaE =H
@A B € D
2 3 1 4 (d) Fufe
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116. Supposes an agricultural labourer earns 118. Which one of the following was the host

¥400 per day in her village. She gets a country for World Tourism Day, 20197
job to work as babysitter in a nearby
town @ 700 per day. She chose to

1 fa} USA
work as agricultural labourer. Which
one of the following is the opportunity :
caost of the agricultural labourer? (b) India
fa) 1,100 (b) ¥700 () Russia
fc) 400 {d) 300

{d} Canada

117. Match ListI with List-Il and select the
correct answer using the code given

below the Lists :
119. BRICS Summit, 2020 will be hosted by

List-I List-IT
{Mariet {Characteristic) .
fa} India
sirueture)
A, Perfect 1. Only one producer _
competition selling one commodity (b) China
B. Monopoly 2. Few producers selling
similar or almost similar fe) Russia
products
C. Monopolistic 3. Many producers selling fd] Brazil
competition differentiated products
D. Cligopoly 4. Many producers selling

similar products :
120. The Government of India has recently

Code : constituted a civilian award in the
name of Sardar Vallabhbhai Patel in
fa) A B C D the field of contribution to

(b) A B fa) unity and integrity of India

&b
W 0
WO

(b) art and culture

fc) social work

fd} A B
2 3 1 4 fed) entrepreneurship

O
o
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